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DHAKA COACHING CENTRE 
BS-15/1, Federal ‘B’ Area, Karimabad, Karachi. 

Ph: 36826389, 36826381, 36826480  
 

IMPORTANT QUESTIONS 2019-2020 

SUBJECT: ENGLISH           CLASS: X 

 
Section A (Compulsory) 

Q1: MCQs 
1. Insert a suitable article 
 There is ____________ island near Karachi. 
 * the  * a  * an  * none of these 
2. Choose an appropriate preposition 
 I agree _____________ his proposal. 
 * with  * by  * to  * for 
3. Select the correct passive form. 
 She cooked food for her family in the evening. 
 * Food was cooked for her family by her in the evening. 
 * Food is cooked for her family by her in the evening. 
 * Food was cooked for her family in the evening. 
 * In the evening, the food cooked by her for her family. 
4. Select the correct active form. 
 By whom is the cupboard opened? 
 * Who opens the cupboard?   * Who opened the cupboard? 
 * Who has opened the cupboard?  * Who was opened the cupboard? 
5. Choose the indirect narration. 
 He said, “Let us go to the fair.” 
 * He said that they should go to the fair. * He proposed to go the fair. 
 * He ordered to go to the fair.  * He asked to go to the fair. 
6. Choose the correct direct speech. 
 He says that he wants to speak me. 
 * He said, “I want to speak to you.”  * He says, “I want to speak to you.” 
 * He said, “He wants to speak to me.” * He says, “I wanted to speak to you.” 
7. Choose the correct word. 
 From cocoa powder we make _____________. 
 * coffee  * chocolate  * tea   * juice 
8. Choose the correct answer. 
 Little _____________ of sand make a pleasant land. 
 * particles   * pieces  * parts  * gains 
9. Choose the correct negative sentence. 
 He drank tea. 
 * He does not drinks tea.  * He did not drink tea. 
 * He do not drink tea.   * He does not drink tea. 
10. Select the correct interrogative form. 
 You were driving too fast. 
 * Did you driving too fast?   * Haven’t you driving too fast? 
 * You were driving too fast, weren’t you? * Were you driving too fast? 
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11. Choose the correct question tag. 
 Rehan ate his lunch, __________? 
 * doesn’t he  * didn’t Rehan  * didn’t he  * don’t he 
12. Select the correct affirmative form. 
 I did not meet him the same day. 
 * I meet him the same day.   * I meted him the same day. 
 * I do met him the same day.   * I met him the same day. 
13. Select the antonym of: Agree 
 * differ   * active  * stop   * same 
14. Select the correct part of speech. 
 He is a tall boy. In this sentences “tall” is 
 * verb   * adverb  * adjective  * noun 
15. Select the correct present participle form of the verb “Break” 
 * broke  * breaked  * broken  * breaking 
 

Section “B” (Short Answer Questions) 
 
Q2: (a) Answer any four of the following questions in three to four sentences each. 08 
1. How did the Caliph find out the real owner of the horse? OR 
 Why was Haroon-or-Rasheed famous for?   OR 
 How is cultivation done at the Model Farm? OR dispute of richman & the beggar? 
2. What are the dangers of marine fishing? OR What are two modes of fishing? OR 
 What does ‘Akhund’ mean & qualities of teacher?  OR 
 Different entertainments in the village fair? 
3. How did the Muslims feel over King Faisal’s death?  OR 
 What are the feelings of King Faisal about Pakistan? OR  Why was King Faisal against Israel? 
4. Give one example shared by Mr. Inayat with Akhtar regarding the dignity of work. OR 
 What were the teachers & the H.M doing at the school and why?  OR 
 Why was Akhtar angry? 
5. What does everyone do in China in a year?    OR  

Were companions of Holy Prophet (SAWW) like him. OR 
 What are the basic skills to make a good summary. OR menu of the Shehnaz party? 
6. What are the famous crafts of Sindh & Saints of Sindh? OR Historical importance of KHybar Pass? 
 Why is the Punjab called ‘The seat of the Learning’ OR Process of mending puncture? 
Q2: (b) Answer any Two of the following questions in three to four sentences each.  04 
1. What makes a nation great and strong? OR Why did the Poet Climb the steeple? OR 
 What are the characteristics of a person who make a nation great & strong? 
2. Why does the poet give the credit for all great achievements of people to their mothers? OR  
3. Do you agree with the message of the poem “The Man Who Wins”? OR 
 What type of Man can’t win?  OR 
 What lesson did King get from the spider? 
4. The message in the poem “Casabianca” OR 
 What lesson do you learn from the poem “Casabianca”? OR 
 Why did the Minstrel boy destroy his lamp? 
 
Q3: Read the following paragraph carefully then answer the question given below.   06 

“I pulled the reins of my horse. He begged me to give him a ride up to the city gate. I felt sorry for 
him. so, I pulled him up behind me on the horse.” 
i) Name the lesson and the speaker. 
ii) Who begged for a ride & who gave the ride? 
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iii) Where were these words spoken & who brought the dispute of the horse? 
 
Q4: Read the following stanza carefully, then answer the questions given below.   06 
 “Bravo! Bravo!” The king cried out 

“All honour to those who try!” 
The spider up there defied despair, 
He conquered, and why should not I?” 
i) Name the poem and the poet / poetess. 
ii) Which insect gave courage to the King & where? 
iii) Why did the King cry out with joy? 

 
Q5: Fill in the blanks with suitable words. (any six)       06 
1. The beggar was a ____________ and a wicked man. 
2. ___________ was killed by his own wicked nephew. 
3. God declare that he ____________ among the people. 
4. King Bruce was the King of ____________. 
5. Azam & Moazzam inherited a cow, a date-palm tree and a ____________. 
6. Khyber Pass is a narrow mountain valley about ____________ kilometers long. 
7. The famous Mela Chiraghan is held in ____________ every year. 
8. Most ____________ in Sindh, as in the Punjab are of religious nature. 
9. The first Islamic Summit conference was held in ____________ (City). 
10. Most of the Nigerian inhabitants are ____________. 
 
Q6: Use any six of the following idioms in sentences of your own.     06 
 i) By fits and starts, to have the lion’s share, 

ii) to nip in the bud, to end in snoke, 
iii) with flying colours, to wind up, 
iv) to take to take, to turn over a new leaf, 
v) a black sheep, to kick up a row 

 
Section C (Descriptive Answered Questions) 

 
Q7: Write an essay of 120-150 words on any one of the following topics.    08 
 i) The value of discipline    ii) A visit to the hilly area 
 iii) Prize Distribution Ceremony at the School iv) Inflation - why? 
 v) An exciting cricket match    vi) Use & Abuse of Mobile or Internet 
 
Q8: Write an application to the H.M of your school, requesting him / her to allow you to participate in 

speech competition./Science Competition.  OR   
To issue your character certificate. OR Visit to any place of interest 

     OR 
 Write a letter to editor of a newspaper regarding shortage of water supply in your locality. 
     OR 
 Traffic problem of Karachi. OR Power failure 
     OR 
 Write a dialogue (of 12 sentences) between father & son regarding the abuse of internet & mobile 

phones. 
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Q9: Translate any five of the following sentences into English. 

 
 
Q10: Read the following passage & answer the question given below.     05 
 Another thing that is essential for good health is rest. When food is burnt in the cells fo the body at a 

high rate, the blood cannot carry away the waste materials as fast as they are formed. They, therefore, 
accumulate in the cells and prevent them from working properly, and causes Fatigue. Fatigue makes 
people ill tempered, slows up their thinking power and causes them to make mistakes & lowers their 
resistance to disease. Sitting or lying down quietly is a good way of resting and so is working at some 
hobby that does not requires much physical energy but nothing can take the place of sleep. 

Questions 
1. What is the cause of Fatigue? 
2. What is the best form of rest for a man? 
3. Why can’t the blood carry away to waste materials as fast as they are formed? 
4. Write noun form of ‘Prevent’ & ‘High’ 

  OR 
Write a short note on any one of the following. 

 i) The uses of adversity  ii) Casabianca  iii) Khyber Pass 
 iv) The embroidery of Sindh  v) Dignity of Work vi) A Visit 
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BS-15/1, Federal ‘B’ Area, Karimabad, Karachi. 
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IMPORTANT QUESTIONS 2019-2020 

SUBJECT: MATHEMATICS           CLASS: X 
 

SECTION ‘A’ (Compulsory)     (MCQs – Multiple Choice Questions):  (20 Marks) 
 
Q1. Choose the correct answer from the given options. 

i. The Cartesian product of set A and B is written as  

a. A.B   b.   A x B c.  A ∆ B  d.  A ∩ B 

ii. The sum of supplementary angle is   

a. 90   b.  1800  c. 3600   d.  None of these 

iii. 𝑥4 + 64 will be a perfect square by adding  

a. 8𝑥2   b.  16𝑥2 c.   16x   d.   16 

 

iv. The duplicate ratio of 2a : 3B is 

a. 4𝑎2: 9𝑏2  b.  8𝑎3: 27𝑏3 c.   √2𝑎: √3𝑏  d.  a : b 

 

v. A : b :: b : c then b is called 

a. 1st proportion  b. 3rd proportion  c. 4th proportion d.  mean proportion 

 

vi. √27
3

 , 3 is called 

a. Radicand   b.  Exponent c.  Index  d.  none 

 

vii. The Intersection point of median is called 

a. Orthocentre  b.Circumcentre c.   centrod  d.  Incentre 

 

viii. The multiplicative inverse of a+2b is 

a. a – 2b    b.  
1

𝑎−2𝑏
  c.  

1

𝑎+𝑏
   d.  

1

𝑎+2𝑏
 

 

ix. The degree of polynomial 𝑥2 + 2𝑥𝑦2𝑧 + 4𝑧3 is 

a. 2   b.  3  c.  4   d.  1 

 

x. The characteristic of 0.0073 is 

a. 0   b.  1  c.  2̅   d.  3̅ 

 

xi. {0,1,2,3…..} is the set of  

a. Whole number  b. even number  c. Prime number  d.  Natural number  

 

xii. (√𝑥 − √𝑦)(√𝑥 + √𝑦)= 

a. 𝑥2 − 𝑦2   b.  x + y  c. √𝑥 − √𝑦  d. x – y  

xiii. The measure of angle inscribed in a semi circle is equal to  

a. 300   b. 600  c.  900   d.  1800 

 

 

xiv. a + b = 2 and a – b = 2 then the value of a2 – b2 =  
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a. 0    b.  2   c.   4    d.  8 

 

xv. The H.C.F of 8x3y2 and 12x2y3 is 

a. 4x2y2   b.  8xy  c.   12x2y2  d.   24x3y3 

 

xvi. The standard deviation is 4 then variance will be 

a. 2   b.  8  c.  16   d.   √2 

 

xvii. The angle is greater than 900 is called 

a. acute   b.  Right c.  Obtuse  d. none of them 

 

xviii. The base of natural logarithm is 

a. 10   b.  e  c.  𝜋   d.  0 

 

xix. If D = 125 ‘ a = 25 and N = 5 then 𝑋 ̅is  

a. 25    b.  30  c. 130   d.  50 

 

xx. (-3 , 9) is in _______________ quadrant  

a. 1st    b. 2nd   c. 3rd    d. 4th  

 

Section “B” (Short Answer Questions) 
 
NOTE: Attempt any 10 questions. All questions carry equal marks.   

Q.2: If  U={1,2,3,4,5,6,7,8,9,10}, 𝐴 = {2,4,6,8,10} 

 𝐵 = {3,6,9,10} , 𝐶 = {1,3,5,7,9} Prove that 

(i) (𝐴 ∪ 𝐵)′ = 𝐴′ ∩ 𝐵′     (iii)  (𝐴 ∩ 𝐵)′ = 𝐴′ ∪ 𝐵′ 

(ii) 𝐴 ∩ (𝐵 ∩ 𝐶) = (𝐴 ∩ 𝐵) ∩ 𝐶  (iv) A∆B= (AUB) – (A∩B) 

Q.3: Simplify: 

 (i) (
𝑥𝑙

𝑥𝑚)
𝑙+𝑚

× (
𝑥𝑚

𝑥𝑛 )
𝑚+𝑛

× (
𝑥𝑛

𝑥𝑙 )
𝑛+𝑙

   (ii)√
𝑎𝑥

𝑎𝑦

4
× √

𝑎𝑦

𝑎𝑟

4
× √

𝑎𝑟

𝑎𝑥

4
           iii) [

(125)2𝑋8

(64)2 ]
1

3⁄

 

 (iv) √
(216)

2
3⁄  𝑋 (25)

1
2⁄

(
1

25
)

−3
2⁄

 

Q.4: (i) If 𝑃 = 3 + 2√2, find the value of 𝑃2 +
1

𝑝2 

 (ii) If a+b=5 and a-b=3, find the value of 𝑎2 + 𝑏2 & 4ab 

 (iii) Find the value of 𝑥2 + 𝑦2 + 𝑧2when x+y+z=√7  and xy+yz+xz=2 

(iv) Find the value 𝑎3 + 𝑏3 + 𝑐3 − 3𝑎𝑏𝑐 𝑤ℎ𝑒𝑛 𝑎 + 𝑏 + 𝑐 = 15 𝑎𝑛𝑑 𝑎𝑏 + 𝑏𝑐 + 𝑎𝑐 = 74 

(v) Find the value of 𝑎2 + 𝑏2𝑤ℎ𝑒𝑛 𝑎 + 𝑏 = 5; 𝑎𝑏 = 3 

(vi) Find the value of x3 – y3 when x – y = 5 and xy =3 

Q.5a): With the help of log table find the value of. 
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 (i) 
(6.735)(48.27)

(16.18)2    (ii) 
(85.7)(2.47)

8.89
  (iii) 

√273.5 𝑋 (1.27)2

√36.72
3  

Q5b) (i) If a/b = c/d = e/f prove that (𝑎2 + 𝑐2 + 𝑒2)(𝑏2 + 𝑑2 + 𝑓2) = (𝑎𝑏 + 𝑐𝑑 + 𝑒𝑓)2 

 (ii) 
𝑎4𝑏2+𝑎2𝑒2−𝑒4𝑓

𝑏6+𝑏2𝐹2−𝐹5
=

𝑎4

𝑏4
  iii) 

𝑎

𝑏+𝑐
=

𝑏

𝑎+𝑐
=

𝑐

𝑎+𝑏
𝑝𝑟𝑜𝑣𝑒 𝑡ℎ𝑎𝑡 𝑎 = 𝑏 = 𝑐; 𝑎 + 𝑏 + 𝑐 ≠ 0 

 (iv) If 
𝑥

𝑎
=

𝑦

𝑏
=

𝑧

𝑐
𝑝𝑟𝑜𝑣𝑒 𝑡ℎ𝑎𝑡 

𝑥3

𝑎2 +
𝑦3

𝑏2 +
𝑧3

𝑐2 =
(𝑥+𝑦+𝑧)3

(𝑎+𝑏+𝑐)2 

Q.6: Resolve into factors: 

 (i) 𝑥2(𝑦 − 𝑧) + 𝑦2(𝑧 − 𝑥) + 𝑧2(𝑥 − 𝑦) or 𝑎2(𝑏 − 𝑐) + 𝑏2(𝑐 − 𝑎) + 𝑐2(𝑎 − 𝑏) 

 (ii) 𝑟2(𝑠 − 𝑡) + 𝑠2(𝑡 − 𝑟) + 𝑡2(𝑟 − 𝑠) 

 

Q.7: Find solution set by using Quadratic formula. 

 (i) 𝑥2 + 8𝑥 + 15 = 0  (ii) 2𝑥2 + 7𝑥 + 6 = 0 iii) 3x2 – 7x + 5 = 0 

Q.8: (i) For what value of ‘q’ 4𝑥4 + 12𝑥3 + 25𝑥2 + 24𝑥 + 𝑞 is perfect square? 

(ii) What should be subtracted to 𝑥4 + 4𝑥3 + 10𝑥2 + 14𝑥 + 5 to make it a perfect square? 

(iii) For what value of a and b, 𝑥4 + 4𝑥3 + 10𝑥2 + 𝑎𝑥 + 𝑏 is a perfect square. 

Q.9: (i) If 𝐴 = [
3 2
1 0

] OR 𝐴 = [
3 2
5 4

]   prove that 𝐴𝐴−1 = 𝐼 

 (ii) By using Cramer’s rule solve the equations. 

  
2𝑥 + 3𝑦 = −3
4𝑥 + 3𝑦 = 5

    OR      
2𝑥 − 𝑦 = −2
𝑥 + 2𝑦 = 3

      OR     
4𝑥 + 𝑦2 = 2
7𝑥 + 2𝑦 = 3

 

Q.10: Find the relation independent of ‘x’ from the following 

 (i) 𝑥 −
1

𝑥
= 2𝑎,           𝑥2 +

1

𝑥2 = 𝑏2  (ii) 𝑌 +
1

𝑌
= 2𝑎;  𝑦 −

1

𝑌
= 2𝑏 + 1 

 (iii) 𝑥 +
1

𝑥
= 2𝑃  , 𝑥 −

1

𝑥
= 2𝑞 + 1   (iv) 𝑥 +

1

𝑥
= 2𝑎 ;  𝑥3 +

1

𝑥3 = 𝑏3 

 (iv) Find the relation independent of t from the following equation 

   𝑥 =
𝑎(1−𝑡2)

1+𝑡2
; 𝑦 =

𝑏(1−𝑡2)

2𝑡2
 (v) 

𝑥

𝑝
=

1+𝑡2

2𝑡
;

𝑦

𝑞
=

1−𝑡2

2𝑡
 

Q.11: If two angles of a triangle are congruent, the sides opposite to them are also congruent, Prove it 

      OR 

 If a side of a triangle is extended the exterior angle so formed is measure greater than either of two 

interior opposite angles.  

OR 

Prove that the two chords of a circle which are equidistant from the centre are congruent. Prove that 

 

Q.12: The sum of the measures of the angles of triangle is 1800.   
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OR 

 The two tangents drawn to a circle from a point outside the circle are congruent. 

Q.13: Congruent chords of a circle equidistance from the centre. 

OR 

 The line drawn from the centre of the circle to Bisect a chord is perpendicular to the chord. 

Q.14: Prove that: 

 (i) 𝑆𝑖𝑛2𝜃 + 𝐶𝑜𝑠2𝜃 = 1  (iii) 
𝑠𝑖𝑛𝜃

1−𝑐𝑜𝑠𝜃
=  

1+𝑐𝑜𝑠𝜃

𝑠𝑖𝑛𝜃
 

 (ii) 1-2𝑆𝑖𝑛2𝜃 = 2 𝐶𝑜𝑠2𝜃 − 1 (iv) tan𝜃+cot𝜃=Cot𝜃 Sec2𝜃 

 (v) If sin𝜃=√3/2 find remaining Trigonometric ratios. 

Q.15: Find the solution set of the equation 

 (i) |
2𝑥+1

7
| = 1 (ii) √25𝑦 − 6 = 4√𝑦 + 3 (ii) |3𝑥 − 4| + 4 = 22 

Q.16: Find the values of the trigonometric ratios of an angle of 300 ; 450 OR 

 Derive tan2𝜃+1 = Sec2𝜃 

Section “C” (Detailed Answer Questions) 

Q.17: Factorize the following. 

 (i) 4𝑎4 + 625𝑏4    (ii) 3𝑥2 + 12𝑥 + 9 

 (iii) 𝑎3 − 8𝑏3 + 27𝑐3 + 18𝑎𝑏𝑐  (iv) 𝑎4 + 2 + 1 

(iv) 𝑎3 − 𝑎2 + 2    (vi) 𝑥6 − 64𝑦6 

(vii) 𝑎𝑏 + 𝑎𝑚𝑥 − 𝑏𝑥 − 𝑚𝑥2  (viii) 𝑥4 − 11𝑥2 + 1 

(ix)  𝑥2 + 15𝑥 + 36    (x) (𝑥 − 𝑦)3 − 64𝑧3  

(xi) 𝑥3 − 𝑥 − 2𝑦 + 8𝑦3    (xii) (𝑎 − 𝑏)2 − (𝑐 − 𝑑)2 

. 

Q.18: Find the solution set of the following equation graphically. 

(i) 
4𝑥 − 𝑦 − 10 = 0
3𝑥 + 5𝑦 − 9 = 0

 (ii) 
𝑥 + 2𝑦 = −3
2𝑥 + 𝑦 = 14

  (iii) 
3𝑥 − 𝑦 = 11
𝑥 − 3𝑦 = 9

 

Q.19i)  In any correspondence of two triangles, if one sides and any two angles of one triangle are congruent  

to the corresponding side and two angles of the other the two triangles are congruent. Prove it.   

ii) In a correspondence of two right triangle if their Hypotenuse and one more side are congruent then 

prove that triangles are congruent. 
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Q.20a) The marks obtained by some students in a chemistry examination are given below. Find mean 

median and mode of their marks. 

  

Marks 

25-29 30-34 35-39 40-44 45-49 

 

Students 

9 18 35 17 5 

  

(b) Find variance and standard deviation. 

 (i) 23, 15, 35, 48, 41, 5, 8, 9, 11, 51 

 (ii) 35, 32, 31, 34, 38, 33 

(c) Find the factors by means of reminder theorem. 

 (i) 𝑥3 − 4𝑥2 + 5𝑥 − 2  (ii) 𝑥3 − 11𝑥2 + 36𝑥 − 36 

Q.21i) Draw the transverse common tangents of the two circles with the radii 3cm and 2cm, when the 

distance between their centres is 6cm. Write down the steps of construction. 

ii)  Draw a triangle ABC such that 𝑚 𝐴𝐵̅̅ ̅̅ = 4.3𝑐𝑚, 𝑚 𝐴𝐶̅̅ ̅̅ = 5.2𝑐𝑚 and 𝑚 𝐵𝐶̅̅ ̅̅ = 6𝑐𝑚. Draw its 

circumscribed circle. Write also the steps of construction. 

iii) Draw the direct common tangents of the two circles with the radii 3cm and 2cm, when the distance 

between their centres is 6cm. Write down the steps of construction. 
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IMPORTANT QUESTIONS 2019-2020 

SUBJECT: PHYSICS            CLASS: X 

SECTION ‘A’ (Compulsory)     (MCQs – Multiple Choice Questions):  
 

Q1. Choose the correct answer from the given options. 

(i) Ibn-ul-Haithem was born in 965 A.D in :  

a) Basra   b) Pakistan   c) Italy   d) Asfahan   

(ii) The refractive index of Air is : 

 a) 1.023  b) 1.30   c) 1.000   d) 1.52  

(iii) The audible frequency range is: 

 a) 20 HZ to 20 KHZ b) 20HZ to 25 KHZ c) 20 HZ to 30 HZ  d) 20HZ to 2000 KHZ  

(iv) Which of the following is a derived unit ? 

 a) mol    b) Cubic meter  c) Ampere  d) Kelvin 

(v) The heat energy involved in the change of state is called ________________ 

 a) Specific heat   b) Evaporation  c)  Thermal conductivity d) Letent  

(vi) The silicon crystal doped with pentavalent element is called. 

 a) n-type substance  b) p-type substance  c) Insulator  d) Conductor 

(vii) Short sightedness is removed by using _____________________ 

 a) Convex lens  b) concave lens  c) plane mirror   d) none of them 

(viii) One hours power = _____________________ watt  

 a) 900 watt  b) 746 watt  c) 760 watt  d) 950 watt 

(ix) The current obtained from a battery is always 

a) A.C   b) D.C   c) P.D   d) P.N 

(x) For a force F1 , Fx = 6N and Fy = 6N , what is the angle between F and the x-axis 

 a) Less then 450  b) 450   c) 600   d) Greater 600 

(xi) The value of radius of earth is: 

a) 6.4 x 10-6 m  b) 6.4 x 106 m   c) 6.67 x 10-11 m  d) 6 x 1024 m 

(xii) Which of the following correct for power 

a) P = q/p  b) P = F.V  c) P = F. 1/v   d) None of them 

(xiii) The unit of young’s Modulus is : 

a) N/m   b) m   c) N/m2   d) Nm2 

(xiv) In inclined plane , that the smaller the value of angle  ____________ will be the M.A 

 a) Greater  b) Smaller  c) Same   d) None of them 

(xv) The image formed in the human eye is real, inverted and ____________. 

a)   diminish   b)  magnified    c) same size   d) none 

(xvi) When the object is at a distance from convex mirror the image is formed at ____________ 

a) principle focus    b)  pole    c) beyond 2F    d) centre of curvature 

(xvii) Dr. Abdus Salam was awarded the Noble Prize for his work on _________________. 
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a) lever      b) light       c) GUT     d) nuclear reactor 

(xviii) Holes are the charged carriers on the ______________type of material. 

a)  doping       b) semi-conductor     c)   n-type       d) p-type 

(xix) Matter, in whatever state it may be is made of tiny particle called _______________. 

a) Cell                   b) Atom                c) smallest particle   d)   molecules 

(xx) A car accelerates uniformly from 5m/s to 13m/s in 4.0sec.What is acceleration of the car of the car in m/s2. 

a)    0.5m/s2        b) 1.25m/s2       c) 0.80m/s2               d) 2.00m/s2 

(xxi) The instrument used for measuring the unknown pressure with respect to atmospheric pressure is called 
_________. 

 a)  Barometer           b)   Manometer     c) Pascal                 d) Oil transmits pressure 

(xxii) One micro second is equal to _____________second. 

a) 108    b) 106         c) 10-4             d)  10-6 

(xxiii) By increasing the length of a conductor its resistance is ______________. 

a) increased   b) decreased    c) remains the same   d) none  

(xxiv) The emission of invisible radiations from uranium is called ______  

              a) nuclear fission   b) radioactivity    c) fusion reaction  d)  none 

(xxv) A machine helps us to lift much heavier ______________ by comparatively smaller force. 

 a) Input   b) weight   c) output   d) none 

(xxvi) The attractive force between any two bodies of universe is: 

 a) Weight       b) force of gravity        c) gravitation           d) pressure 

(xxvii) Work is done when a body is moved through a distance by a ________. 

 a)  Fulcrum   b) inclined plane c) M.A.     d)  Force. 

(xxviii) One micro metre is equivalent to : 
(a) 10-3m         (b) 10-6m  (c) 10-9m  (d) 10-12m 

(xxix) Kitab-Al-Manazir is written by: 
(a)    Ibn-al-Haitham (b) Yaqoob-al-Kindi  (c) Al-Beruni  (d) Moosa Kawarzmi 

(xxx) Acceleration of 1kg ball for downward motion is: 
(a) 9.8m/s2  (b) -9.8m/s2  (c) 1m/s2   (d) 98m/s2 

(xxxi) If V=10m/s, t=5sec,S will be: 
             (a) 15m   (b) 5m   (c) 2m   (d) 50m 

(xxxii) Equivalent weight of 10 kg is: 
 (a) 98N    (b) 980N      (c) 100N   (d) 196N 

(xxxiii) Unit of light intensity is: 
 (a)  N/m2  (b) Volt       (c) Candela  (d) Joule 

(xxxiv) Which of the following is same as Kg.m/s2 
 (a)    Joule   (b)    Newton         (c) Pascal          (d) Watt 

(xxxv) The Laws of Reflection were first introduced by: 
           (a)  Yaqoob Al-Kindi    (b) Ibn-ul-Haitham   (c) Moosa Khawarzmi   (d) Al-Beruni 

(xxxvi) A 25N force acts along the x-axis. Its y-component is  
(a) 0N     (b) -25N    (c) 25N     (d) none  

(xxxvii) Vectors are added or subtracted graphically by _______________ rule. 
             (a) right hand   (b) head to tail   (c) electron    (d) none 
 

(xxxviii) The Pin Hole camera was invented by  __________ 
 (a) Al Khwarzmi  (b) Snell     (c) Al Haitham  (d) Al Beruni 
 

(xxxix) The pressure of a liquid depends: 
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 (a) only upon its density  (b) only upon its height above the point inside the liquid.  
(c) upon its density as well as height above the point inside the liquid.   
(d) neither upon its density nor height. 

(xl) The Mechanical Advantage of an inclined plane is ____________. 

 (a) 
sin

1
  (b)  

cos

1
       (c)





cos

sin
  (d) none 

 

2. Definitions. 

(i)  Viscosity  (ii) Power  (iii)  spectrum  (iv) Resonance  (v) Inertia  (vi) Specific heat  (vii) center of gravity     (viii)  

Interference  (ix) Beat  (x) Newton  (xi) Elasticity (xii) Photon (xiii) Rainbow   

(xiv) Dispersion of light  (xvii)  limiting friction  (xviii) equilibrium  (xix) magnification (xx) half life  

(xxi) Doping   (xxii) critical angle  

 

3.  Differences. 

(i)  Scalars and vectors    (ii)  mass and weight    (iii)  g  and G    (iv)  speed and velocity    

(v)  heat and temperature    (vi) P.E and K.E    (vii)   A.C and D.C  (viii) fission and Fusion  

(ix)  Musical sound and Noise  (x) longitudinal wave and transverse wave. 

 

4. Short derivations.  

(i)   Vf = Vi+at        (ii)  V=λf    (iii) W=I2Rt 

 

5. State the following laws : 

(i)  Newton’s laws of motion   (ii)  Hook’s law   (iii) law of conservation of momentum  (iv) law of heat exchange  

(v) Pascal’s law  (vi) Archimedes’ principle (vii)  Coulomb’s law   (viii) Ohm’s Law  (ix)  Joule’s Law. 

6. Write down the S.I. units of the following physical quantities: 

i) Time ii) weight iii) power iv) stress v) length vi) frequency 

vii) Torque viii) Momentum  ix) viscosity  x) input  

7. Numerical: 

i. A car is moving with uniform acceleration and attains the velocity of 108kmh-1 in 5 minutes. Find acceleration 

of the car. 

ii. A string 2m long is used to whirl a 100gm in horizontal circle at a speed of 2ms-1 find tension in string. 

iii. A object is placed 10cm from a convex lens of focal length 15cm. Find the position and magnification of the 

image. 

iv. With the help of Einstein equation find the mass transformed to energy when the speed of light is 3 x 108 ms-

1 and the energy released during nuclear reaction is 9 x 1016 J. 

v. A gun of mass 10kg fires a bullet of mass 0.05kg with a speed of 200m/s. Calculate velocity of recoil of the gun. 

. 

vi. Find the amount of heat required to convert 10kg ice 00C into water without changing the temperature while 

latent heat of fusion of ice 336000 J/Kg. 

vii. 20 waves per second pass through a point on the surface of the pond. Calculate the wave-length if the velocity 

of wave is the 3.5ms-1. 

viii. Find the two rectangular components of a force of 100N which is acting at an angle of 600 with X-axis (sin 600 = 

0.866, cos 600 = 0.5) 

ix. Three resistances of 4, 6 and 12 are connected in parallel with a source of 6 volt. Find the current flowing 

through the circuit. 
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x. What is an Ammeter? How is a Galvanometer changed into an ammeter? Also state how an ammeter is 

connected in an electrical circuit? 

xi. The half-life of Radium is 1600 years. Find the amount of Radium left after 4800 years, if its mass is 60g. 

xii. A force of 588N acts on a box to move it at a distance of 4m in 40 seconds. Calculate the power. 

xiii. The radius of curvature of a concave mirror is 20cm. Where should an object be placed so as to get its real 

image magnified twice? 

xiv. Calculate amount of current passing through an electric heater if it takes 1800C of charge to heat in 3 min. 

xv. A sitar string vibrates at 400Hz. What is the time period of this vibration? 

xvi. Two forces of 3N and 4N are acting on a body. If the angle between them is 900, find the magnetic of the 

resultant vector. 

xvii. A stone of 200gm mass tied to one end of a string of length 50cm is whirled from the other end in a circle with 

the constant speed of 2 m/s; find the tension in the string. 

xviii. The length of the handle of a screw jack is 42cm and its pitch 1.001m; find its mechanical advantage. 

xix. A force of 50N acts on a body. If the moment arm is 0.5m, find the value of the Torque. 

xx. A 100-watt bulb operates in a 220v circuit; find the current through the bulb. 

 

DETAILED ANSWER QUESTION 

 

1. Define potential energy and Kinetic energy and derive K.E = 1/2 mv2 

2. Derive the equation 2aS = vf
2 – vi

2 

3. Draw the ray diagram of compound microscope and describe its working. 

4. State Boyle’s law and Charles Law. Also Derive PV = nRT 

5. Derive Coulomb’s law, and derive 𝐹 = 𝐾
𝑞1𝑞2

𝑟2  

6. Derive the equation β=3α 

7. Define simple harmonic motion and define it with the help of simple pendulum. 
8. Define Wheel and axle and derive an expression for its Mechanical advantage. 

9. Define Screw Jack derive an expression for its Mechanical advantage. 
10. State Pascal’s law and explain the working of hydraulic brake system with the help of diagram. 
11. Define resolution of vector and resolve a vector into its components. 
12. Define Young’s modulus of elasticity and derive its equation. 

13. With the help of ray diagram the mirror equation
1

𝑓
=

1

𝑝
+

1

𝑞
 

14. State Newton’s Law of universal Gravitation. And derive an expression how the value of ‘g’ decreases with a 
change in altitude. 

15. Define nuclear fission reaction. Write down its equation and explain chain fission reaction. 
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